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HISTORY
Paper - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.
All questions are compulsory.

1.  The first evidence of hearth occurs in the upper Palaeolithic context of
(1) Bhimbetka (2) Billasargam
(3) Hunsgi (4) Paisra

2. Which of the following prehistoric sites has produced a large number of microliths ?
(1) Adamgarh (2) Bagor
(3) Nalagonda (4) Sanganakallu

3.  Which of the following Harappan sites have brought to light fire altars ?
(a) Banawali (b) Rakhigarhi
(c) Kalibangan (d) Lothal
Select the correct answer from the code given below :
(1) (a)and (b) (2) (c)and (d)
(3)  (b), (¢) and (d) (4) (), (b), (c) and (d)

4. A terracotta set of chessmen has been found from the Harappan site of
(1) Lothal (2) Banawali
(3) Kalibangan (4) Rojdi

5.  Which of the following pairs is not correctly matched ?

'%_].Ipanishadinuler) (Territory)

(b Ajatasatr - Kasi
(2 Asvapati - Kekaya
3) Panaka ~ Videha
(4) Pravahana Jaivali - Usinara
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(SUFEgEHE I (&)
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6. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :
Assertion (A) : In the Vedic Society during the Sutra period punishment in the same
matter differed from caste to caste.

Reason (R) : Gautama Dharmasutra prescribes highest punishment for theft to a

Brahmana.
In the context of the above two statements which of the following is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
4) (A) is false, but (R) is true.

7.  Arrange the following tirthankaras in a sequence as accepted by the Jain tradition :

(1)  Aranatha (i) Kunthunatha
(ii1)) Mallinatha (iv) Santinatha
Select the correct answer from the code given below :

(1 (@, (), (i), (iv) (2) (@), (i), (iv), (1)
(3) (i), (iv), (1), (i) @) @), (i), (1), (i)

8.  The Matsya and Chedi janas (people) are mentioned for the first time in
(1) Anguttara Nikaya (2) Bhagavati Sutra
(3) Aitareya Brahmana (4) Rigveda

9. Given below are two statements one labelled as Assertion (A) and the other labelled as
Reason (R) :
Assertion (A) : Prasenjit, the ruler of Kosala, claimed a share in the relics of Gautama
Buddha after his Parinirvana.

Reason (R) : Prasenjit’s queen Mallika and his two sisters Soma and Sakula were
Buddha’s lay devotees.

In the context of the above two statements which of the following is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
4) (A) is false, but (R) is true.
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6. il T T K8 MU E | Uk o A (A) 3R T T HROT (R) R AT
HUT (A) : TIHCI Aiseh GHST H T & Al T STITg F <8 3ToRT-37eT o7 |
HROT (R) : W & H =R o A1t H S0 o fold Taifeysh < ot T forar T & |
ST ST SaeAt o TeH | Fefefad 7 § A 98 & ?
(1)  (A) 3R (R) S &l & 71 (A) it T&t =R (R) & |
(2) (A) 3R (R) I Tl &, ] (A) i Tl &A= (R) TRl & |
(3) (A)TE FIR) AT |
4) (A) T S g (R) &I E |

7. TR dYeieRl ol S TRERT § Wihd 35T H AT i :
() e
(i) FgT
(iii) Afoomre
(iv) emfaTE
e fST T e T TET ST HT T B
(1) (), (i), (iii), (iv) (2)  (ib), (iii), (iv), (i)
(3) (i), (iv), (), (i) @ (), (i), (3), (iii)

8. U UF g ST () T YAUEH Sooid Hel (HerdT € ?
(1) 3R e (2) g
(3) U S (4) g

9. T3 g [T M E | U R FHUT (A) 3R AL B HROT (R) el T E
HI (A) 2 IR H TSI THATT = T g o TRIETT o6 T9a Seht gl | fer wim |
HROT (R) : FHATSTT ol T Aioorsh 31 S T8 TrT U Tholl 5 1 SUNTHIT o |
ST JHT FeeAl o Ted ¥ Feeiiad | § i el & ?
(1)  (A) 3R (R) S &l & 71 (A) St T&t =R (R) & |
(2) (A) 3R (R) 3 T & forg (A) 1 W& = (R) T&1 € |
(3) (A)TE FIR) AT |

@) (A) T E g (R) W |
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10. Match List-I with List-II and select the correct answer from the code given below the

(Rivers mentioned by Greeks)

lists :
List -1

(a) Akesines
(b) Hydaspes
(c) Hydraotes
(d) Hyphasis
Codes :

(a) (b)
(GO ©)) (i1)
(2) (i) (iii)
3) (i) (iv)
@ @v) (1)

©
(iii)
(iv)
(1)
(ii)

List - II

(Their modern names)

)

(i)
(iii)
(iv)

(d
(iv)
)
(i)
(iii)

Beas
Chenab
Jhelum

Ravi

11. Who among the following had sent an ambassador called Dionysius to the Mauryan
Court ?

ey
3)

Seleuchus Nikator

Ptolemy Philadelphus

12. 'Who wrote Maduraikkanji ?

ey
3)

Avur Mulangilar

Mangudi Marudan

(2) Antiochus I Soter
(4) Antigonus Gonatas

(2) Kalladanar
(4) Nakkirar

13. Given below are two statements one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : Buddhist sangha received land-grants from Satavahan rulers.

Reason (R) : Names of several granted villages find mention in the Satavahana Copper

In the context of the above two statements which of the following is correct ?

ey
2
3)
4

Paper-I111

Plate inscriptions.

Both (A) and (R) are true and (R) is the correct explanation of (A).
Both (A) and (R) true, but (R) is not the correct explanation of (A).
(A) is true, but (R) is false.
(A) is false, but (R) is true.
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10. g — I 30 gt — 11 T Gafeld hifoiy qer great o = KT $e T Fel ST 1 939 DIy ;
ot - 1 Tt - 10
(Fat g SfeeAfaa Afgat) (I syfa )
(a) ST (i) =™
(b) TRSHNS (i) ==
(c) ®rgelH (ii) 3™
(d) e (iv) e .,
He
@ O © @
(H @® Gy @) (1)
(2) G G Gv) @)
(3) @i) @Gy @G @)
4 Gav) O  G) (D)

11. Fefafad ¥ 9 fFa 51 ER § SEiFaag A g 9o T 2
(1) TogHg FHepe (2) TUUEHIHT | X
(3) o TheTeeRd (4) UMY THeE

12. TEIHIST S @ ha foaT 2
(1) 3T geiiTeR (2) FHeeATeAR
(3) wiieHRE 4) TFERT

13. 9 < oered f§3 TUE | Uk o e (A) AR T A HROT (R) FeT TATE
HU (A) : g T T WA IS F YHIH 0T v |
FHRUT (R) : Fiae qHs Aeral § ek Tex Wl bl A1 fHerdr € |
ST JHT FeIeAl o TeY ¥ feetiad | 9 i Fel T § ?
(1) (A) 3 (R) ST Tl & T (A) =t &l =& (R) ¢ |
(2) (A) 3 (R) I Tel & Tohe] (A) i Wl == (R) Tl & |
(3) (A)TE FI((R)T@E |
4) (AT E FHIR) TE |
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14. Who among the following Gupta rulers issued Lyre-Player type of gold coins ?

(a) Samudragupta (b) Chandragupta II
(c) Kumaragupta I (d) Skandagupta
Select the correct answer from the code given below :

(1) (a) and (b) (2) (b)and (¢)

(3)  (c)and (d) (4) (a)and (c)

15. Who among the following Chinese travellers visited Nalanda Mahavihara and studied

there for some time ?

(a) FaHien (b)  Yuan Chwang

(c) 1Tsing (d) Taou Hin (known as silaprabha)
Select the correct answer from the code given below :

(1) (a) and (b) (2) (b)and (¢

(3) (), (b) and () (4)  (b), (¢) and (d)

16. Arrange the following eras in a chronological order beginning from the earliest :
(a) Harsha era (b) Kalachuri era
(c) Sakaera (d) Valabhi era
Select the correct answer from the code given below :
(1) (), (b), (d), (¢) 2)  (b), (), (a),(d)
(3)  (c), (b), (d), (a) 4 (d), (@), (c), (b)

17. 'Who among the following rulers set up the Rashtrakuta Capital at Manyakheta ?

(1) Dantidurga (2) Dhruva Dharavarsha
(3) Govinda III (4) Amoghavarsha
Paper-111 8 J-06-16
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14. Fffad 5 9 6 T TeTst = SoT-areeh TR % gavt ek Faferd o 2
(a) ST
(b) =TI
() FARTAI
(d) =T
e fST T e T TET ST HT T BT
(1) (a) T (b) (2) (b) T (c)
(3) (0) T (d) 4) (2T (c)
15. Frafafad 9 9 ®F 9§ =4 a6 Ao Felder T 3R 96 S 3o 90 37ea fwar 2
(a) TRM
(b) A =TT
(c) gieam
(d) e (Mem & & 1 =)
e T T P T el ST AN =TI BN
(1) (a) T (b) (2) (b) T (c)
(3) (a), (b) W (c) 4)  (b), (c) T (d)
16. TT=ATARad Hardi I YT I 3TRTT Heh HICTHATTAR SFaed i ;
(a) Y Ha
(b)  ShOTIR Hel
(c) ¥ Fag
(d) =t Far
e o T ¥ TEl IR B I DT
(1) (a), (b), (), (c) (2)  (b), (), (), (d)
(3)  (c), (b), (), () %) (@), (@), (), (b)
17. T=faRad B 9 fo6d ToT = Ade | Igehe ST T i 2
(1) =fagt (2) et HTe
(3) Tfa= I (4) emmay
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18. Determine the correct chronological sequence of the following rulers :
(a) Pala King Devapala
(b) Rashtrakuta King Dhruva Dharavarsha
(c) Paramara King Bhoja
(d) Pratihara King Mahendrapala
Select the correct answer from the code given below :
(1) (@, (b), (c), (d) (2)  (b), (a), (d), (c)
(3) (), (), (a), (b) 4 (d), (c), (b), (a)

19. Match List-1 with List-II and select the correct answer from the code given below the

lists :
List - T List - II 28N 7r
(Authors) (Works)y ( (

(a) Bilhana () Kirtikaumyli | “ '
(b) Padmagupta (i) Navasahasankagharit
(c) Sandhyakara Nandin  (iii) Ramacharita
(d) Someswaradatta (iv) Vikramankadevadharita y.
Codes :

(a) (b) (©) (d)
(H G (1) (iv) (i)
(2 Gv) (i) (1) (i1)
(3) @) (1v) (1) (i1)
@ @Gv) (i1) (iii) (1)

20. Arrange the following Chandella temples in a chronological sequence
(a) Chausatha yogini temple, Khajuraho
(b) Lakshana temple, Khajuraho
(c) Viswanath temple, Khajuraho
(d) Nilakantha temple, Kalinjar
Select the correct answer from the code given below :
(1) (@, (b), (c), (d) (2)  (d), (a), (b), (c)
(3) (@), (d), (0, (b) @) (d), (@), (0), (b)
Paper-111 10 J-06-16
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18. TT=ATAIRad ST 1 Tel FHIATHA LR HIT ;

(a) TS T[T SeaTe
(b) TS TS 4ol U
(c) UXHR TT T
(d) WRR IS HewsuTe
e % F T TEl I H =TI I
(1) (a), (b), (c), (d) (2) (b, (a),(d), (¢)
(3) (), (d), (a), (b) @ (@), (), (b), (a)
19. T — 1 gt — 11 9§ G HifoTT qo gt o =i T e 9 Tl ST P =99 Hiu ;
et - 1 aet - 11 AR Yo
(Fre) (T 4 {"’“ ‘
(a) ferceor (i) s e '
(b) T (i) “EEEEERaNT '
(c) TeEERARA (i) IHERT \
(d) HrRERET (iv) foseriRaaRa 4
F:
@ @ (© @
(hH @ @G 3G (i)
2 @Gv) G @G D)
(3) Gi) Gv) @B (D)
@ @Gv)  G) G @)
20. FfIREd T<et A< T HHH | SFaed i
(2) S AT /i<, Tl
(b)  THEHIT HFEY, TRl
(c) Tergsmmer wi<y, TRl
(d) cThe Ai=y, HifeR
e % F T TEl I H =TI I
(1) (a), (b), (c), (d) (2) (@), (), (b), (©)
(3)  (a),(d), (c), (b) @ (), (a), (c), (b)
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21. Match List-I with List-II and select the correct answer from the code given below the lists.

List -1 List - II
(Temples) (Builders)
(a) Anantavasudeva temple, Bhubanesvar (1)  Chandradevi
(b) Brahmesvara temple, Bhubanesvar (i) Koladevi
(c) Mallikarjuna temple, Pattadakal (ii1)) Lokamahadevi
(d) Virupaksha temple, Pattadakal. (iv) Trailokyamahadevi ’
Code :

(a) (b) (© (d)
(1 () () (i)  (@v)
@ O (i) (v) (i)
(3 @G (@Gv) () (i)
@ () () (i) (iii)

22.  Which of the following pairs regarding the rulers of Kashmir is not correctly matched ?
(1) Chandrapida — Vajraditya (2) Tarapida — Udayaditya
(3) Muktapida — Lalitaditya (4) Jayapida — Pratapaditya

23. Given below are two statements one labelled as Assertion (A) and the other labelled as
Reason (R) :
Assertion (A) : Rajaraja Chola cooperated in the construction of the Chudamani Vihara, a
Buddhist monastery at Negapatam by the Sailendra King Maravijayottunga Varman.
Reason (R) : Rajaraja was devoted to Siva.
In the context of the above two statements which of the following is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.

24. According to the chronicles of Arakan, the first Indian royal dynasty was founded by the
son of a king of

(1) Amaravati (2) Kanchi
(3) Mathura (4) Varanasi
Paper-111 12 J-06-16
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21. A - 1 g - 11§ GAferd e aor gt o = 5T % 3 W@ 3 957 FHieg
ot - 1 Tt - 10
@) (Frmtam)
(a) 3 OIgSd ARG YaHveR (i) SR
(b) FRRE AT, Javer (i) rerREr
(c) oI Ty, Tgaehed (ili) I TR
(d) Toawumer i<y, ugehdt (iv) SclemerRar _;K
F<:
@ O © @
() Gy @) i) (v)
2 @© G (@Gv) (i)
(3) i) Gv) (@) (i)
4 @Gv) (OH @Gy (i)
22, SHYHIT % TSTIS @ T i q Efeiad 3 T@t gaierd T ¢ 2
(1) <SS - Feee (2) dRUE - IFAMEH
(3) YFMUE — Aferdge (4) SHEUE — YA
23, T 3 g [T MU E | U R U (A) 3R SEL I HROT (R) T AT E
FHIF (A) : Ioix TS IRIGSRT FH FRT AT9eR  ImivT [eR A g foer o FHior § IJorm
A = e forA |
HRU (R) : TR ¥1awem ar |
ST JHT Feel o Te ¥ Feeiiad | § i el & ?
(1)  (A) 3R (R) S &l & 71 (A) St T&t &R (R) & |
(2) (A) 3R (R) I Tl &, o] (A) I Tl &A= (R) Tl & |
(3) (A)TE FIR) AT |
@) (AT I (R)TIE |
24, 3RHH & 3iAel & STAR FaT b Ueh TSTHAR - T1 TIq JRATT JASTaT bl T i 2 2
(1) 3Tt (2)
(3) #wgU (4) aRTE
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25.  Which of the following Indian eras has been mentioned in Sanskrit inscriptions of several
South-east Asian Kingdoms ?

(1) Vikrama era (2) Sakaera
(3) Valabhi era (4) Saptarshi era

26. Which of the following contemporary historians has given the account of the horse as the
chief instrument of war and his condemnation of feudal levies reveals the strength of the
Turkish and the weakness of the Indian armies from a purely military point of view ?

(1) Hasan Nizami (2) Minhaj Siraj
(3) Ziauddin Barani (4) Fakhr-i Mudabbir

27. Read the following passage and name the author who has written this :

‘Muslims and Hindus travelled 100-200 kurohs to catch a glimpse of the court, and
the pomp and splendour of the cavalcade of Sultan Balban, and were wonderstruck and
amazed at the spectacle. Hearing about the awe, majesty and grandeur of the court and
cavalcade, the insurgents of distant lands turned obedient’.

(I)  Amir Khusrau (2) Yahya bin Ahmad Sirhindi
(3) Ziauddin Barani (4) Shams-i Siraj Afif

28. Match List-1 with List-1I and select the correct answer with the help of the code given
below.

List -1 List - IT
v
(a) Igta-i Tamlik * (1)": _ Holder of igta assignments

(b) Igta-i Isgjfhlal (ii)‘.- Igta assignment order
(c) Itlag d (i) Igta related to stipends

T Mu tis/\{f' (iv) Igtas covered land (cultivated, cultivable,
( ' fallow or mines)

Codes :
(a) (b) (© (d)
H Gy (i) (i) (1)
2 @G @Gv) (i) (1)
3 (@v) (1) (i) (iii)
4 () (iv) () (iii)
Paper-I111 14 J-06-16
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25. STRI0T U9 TN § e 54T o GEhA eral § HEfeiad § § R RATT Tod 1 Seoid ge § 2
(1) Toshm Haq (2) H Haq
(3) ool Faq (4) TN Faq

26. T GHAHCIH FARTHHR F TSl B IF P [oT0 Fod ST ST &7 R 9T & AT Dbl STR
STATEAT I8 W Bt ¢ 1 foep Afieh gfteshior & 6 e =g gl I & oiT Ue arehdt 9,
eIt WS % Wik fEgeamT I % feTu ueh ot 2

() &5 e (2) ot fst
(3) TarsEs st (4) W TEER

27. = TEITST U 3R 36 ci@eh Sl A1 &y

g 3R GHHH Foa Tota shi I i FeaaT ST THeh-3HE q47 39k LR i T 3T
M % T G-I PR T Tothe 37 o 31T o8 g9 ST STRaddichd T e 3@ S & |
3T IMTEET T4T AR & Togeh Rt T9ad 3T SHeb! AEHT S@HT §-G35T & 3T Sl 3Toh
SR &7 T 1’

(1) eFRgE (2) amn o= 2rag Wi

(3) TarsEE == (4) IY-UTERST STHT

28. Al 1 Gl — I § TH6I oY 3R e ot Tl & el STk T o3 e ;
Tl - 1 w® Tl - 11
(a) T o () ZE AR

) s e G e e
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@ G aGv) (@ ()
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29. Khwaja Ziyauddin Nakhshabi translated which of the following Sanskrit works into
Persian ?
(I) Suka-Saptati and Rati Rahasya
(2) Suka-Saptati and Brhatsamhita
(3) Amrit-kund and Brhatsamhita
(4) Rati Rahasya and Adya-Parichaya

30. Which of the following region is addressed as dozakh-i pur naimat by Moroccan traveller
Ibn Battuta ?

(1)  Jaunpur (2) Bengal
(3) Malwa (4)  Gujarat

31. Given below are two statements, one is labelled as Assertion (A) and other labelled as

Reason (R).

Assertion (A) : Sultan Zainul Abidin constructed a network of canals and the entire
valley, including the arid regions locally known as Udars which had till
then depended for their productivity entirely on rainfall, which was
fitful and independable, was irrigated.

Reason (R) : There was abundance of rice and enormous increase in the wealth of
the Sultanate. The new canals were cut from rivers which were
perennially fed by snow.

In the context of the above two statements which of the following is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

4) (A) is false, but (R) is true.

32.  Which one of the following pairs is not correctly matched ?
(1) Jagannath Pandita — Rasgangadhara
(2) Ballalasena — Anangoranga
(3) Nilakantha —Tajikanilakanthi
(4) Banarsidas — Ardhakathanaka

33. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R).
Assertion (A) : The Egyptian and Gujarati fleets were routed by the Portuguese in
1509.
Reason (R) : Mahmud Begarha realised the invincibility of the Portuguese at sea and
opened negotiations for peace with Albuquerque.
In the context of the above two statements which one of the following is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
4) (A) is false, but (R) is true.
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30.
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32.

33.
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(1) IEIAA AR Fq ' (2) I gl AR g8d diedr
(3) WA $He IR Jed Ghear (4) WawE@ AR =g ui=m

HIRERT AT &7 Sl + 55 &35 T ISTE-U-YX S0 T A {347 o 2
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&1 Hied T =1 1 TS o ghaen o @ T | 39 Teel 9% I & ST U8R
form it W R an @i arfive qe TeRgEe o |
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34. Consider the following statements about Nabi-Bangasa :
(a) It was written by Saiyyid Sultan in the late 16™ century in Bengal.
(b) It mentions Hindu Gods Brahma, Vishnu, Shiva, Rama, Krishna as successive

Prophets of Gods followed by Adam, Noah, Abraham, Moses, Jesus and
Muhammad.

(c) The Poet identifies Islamic concept of Prophet (nabi) [a messenger sent by God]
with the Hindu avatar [incarnation of God].

(d) The four Vedas are rejected as successive revelation; instead it proclaim Quran as

the only revealed scripture.
Select the correct answer from the code given below :
(1) (a) and (b) are correct. (2) (c) and (d) are correct.
(3) (a), (b) and (c) are correct. (4) (a), (c) and (d) are correct.

35.  Which of the following statements are correct ?
(a) Vallabhacharya propagated pushtimarga.
(b) Kabir owed allegiance to pushtimarga.
(c) Pushtimarga obtained some popularity in Gujarat and Rajasthan.
(d) The Radha Vallabhis assigned to Radha the more crucial position in the Duality of
Divine.

Select your answer from the code given below :

Codes :
() (a), (b), (c) and (d) (2) (b), (c)and (d)
(3) (a), (b) and (c) 4) (a), (c) and (d)

36. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R).

Assertion (A) : In spite of his admiration for Indian craftsmen, Babur was concerned
that the overall design of his structures in India should be modelled on
Khurasani, that is Timurid examples.

Reason (R) : Two artisans from central Asia came to work for Babur in India. One
was Mir Mirak Ghiyas, second was Ustad Shah Muhammad.

In the context of the above statements which of the following is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
4) (A) is false, but (R) is true.
Paper-111 18 J-06-16

www.examrace.com



34.

35.

36.

el 9T o Gy H = gededt W o

(a) 3 ST A 16a1 G % SR | YoAE Yoo A feran o |

(b) = &g Sore - s, foouy, frer, T, 0T i SYe T Shieh Srie AT T €, T we o
I H SGH, g, STEH, THT, T4T 3K HeHg 37T |

(c) THH TR UeR (&) Sl AT STTERoN (fh o $9a¥ o ST §U g ©) 3R TR
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37. Which of the following rulers made a rule that ‘Whoever came to the sarai was to be
served with food out of government money according to one’s rank and his pony was
given grain and drink’ :

(1) Alauddin Khalji (2) Shershah Suri
(3) Akbar (4) Jahangir

38. ‘After some time another girl was born to Bibi Daulat Shad, and he (the Emperor) named
her Aram Banu Begum ... My father was very fond of her, so much so that he treated her
acts of rudeness as within bounds of good manners. ... And repeatedly addressed me, and
said : ‘Baba ! for my sake be as kind, after me, as I am to this younger sister, who in the
Hindi phrase is ladla (spoilt child), Bear her presumptions, and pass over her impoliteness
and impudences.’

Read the above statement and identify the father-son between whom the
conversation took place :

(1) Babur-Humayun (2) Akbar-Salim
(3) Shahjahan-Dara Shukoh (4) Aurangzeb-Muhammad Muazzam

39. Which of the following are not correct ?
(a) Raja Man Singh of Amber built fort-palace complex Man Mandir at Gwalior.

(b) In 1295-98, the ruler of Arakan carried out extensive repairs of the Mahabodhi
temple, at Bodh Gaya.

(c) The Gujarat style of architecture exercised considerable influence on Mughal
architecture and stone work.

(d) Kashmir totally adopted the Mughal style of architecture.

Select your answer from the code given below :

Code :
() (a), (b) and (c) (2) (b) and (c)
(3) (a)and (d) 4) (c)and (d)

40. Which one of the following statements is not true about Chishti sufi Shaikh Bahauddin of
Barnawa ?

(1) Tansen is said to have performed before the Shaikh.

(2)  Shaikh criticised Raja Man Singh’s invention of dhrupad as a disservice to the
classical forms of music and was designed to cheapen the art.

(3)  Shaikh invented a musical instrument called ‘Sazkhyal’.
(4) The pen shaped ‘sazkhyal’ is popularly known as ‘zangula’.
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41. Which of the following statements are not correct. Choose your answer from the code

given below :

(a) Jahangir established a tradition that the Rana of Mewar would be exempted from
personal attendance at the Mughal court.

(b) Both in the case of Kashmir and Sind, Akbar continued to insist on personal
submission.

(c) From 1585 to 1597, Akbar personally took part in expeditions against Rana Pratap
of Mewar.

(d) An expedition was sent by Akbar against Duda, the son of Surjan Hada, who was
the ruler of Bundi. In this battle Duda was killed and Bundi came under direct
control of the Mughals.

Codes :
() (a) & (b) (2) (a) & (d)
3) (b) & (o) 4 () &(d)

42. Consider the following categories of ayagars (village servants) which did not exist prior to
Vijayanagar period.

(a) Maniyam (b) Karnam

(c)  Niranikkar (d) Talaiyari
Select the correct answer from the code given below :

Code :

() (a), (b) and (c) (2) (b), (c)and (d)
(3) (a), (b)and (d) 4) (a), (c) and (d)

43. Given below are two statements one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : After the death of Guru Arjan, his brother Prithia [Prithi Chand] became
the Guru, and his followers called him Guru Miharban.

Reason (R) : Bhai Gurdas looks upon Prithi Chand and his successors as ‘rebels’ and
‘false’ guru.

In the context of the above two statements which of the following is correct ?
Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) true, but (R) is not the correct explanation of (A).

(3) (A) is true, but (R) is false.

4) (A) is false, but (R) is true.
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44. Which of the following are correct ?

(a) Rupa Bhawani of Kashmir composed devotional verses in the Bhakti tradition.
(b) The compilation of Adi Granth (1603-04) was done by Guru Arjan.

(c) Sachal (eighteenth century) composed in Sindhi lyrical Kafis (poems) showing

version of the romance of Heer and Ranjha.
(d) Bhalan (died 1554), a Gujarati writer, translated Bana’s Kadambari.
Select your answer from the code given below :
(1) (b), (¢) and (d) (2)  (c)and (d)
(3)  (a), (c) and (d) (4)  (a), (b) and (d)

45. Which of the following are not correct ?

(a) Tulsidas was a firm believer in the dharmashasatra.

(b) The devotees of Shankardeva followed the caste rituals and did image worship.

(c) The Sahajiya sect (eighteenth century) introduced Shaktik and tantrik practices.

Select your answer from the code given below :
(1) (a), (b), and (c) (2) () and (b)

(3) (b)and (¢) (4) (a)and (c)

46. Which of the following statements on Shivaji is/are correct ?
(a) Shivaji assumed the title of Haindava-dharmoddharak at the time of his coronation.
(b) Moray deshmukhs of Javli were the first to rally to Shivaji’s side.

(c)  Shivaji did not trust bigger deshmukhs and his actions were divided against bigger

deshmukhs.

Select the correct answer from the code given below :

(1) (a)only (2)  (b) only
(3) (a)and(c) (4) (b)and (c)
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47.

48.

49.

Given below are two statements one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : The miniature painting which was patronized and promoted by the

Mughal emperors was a branch of Persian painting.

Reason (R) : Unlike Persian painting, Mughal painting was essentially
being intended not for the devout, but for the cultural.

In the context of the above two statements which of the following is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) true, but (R) is not the correct explanation of (A).

(3) (A) is true, but (R) is false.

4) (A) is false, but (R) is true.

Which of the following are correctly matched ?

(Monument) . Calligr{pl-le'f"i‘k
(a) Ataga Khan’s tomb, Delhi - i Abd Allah Mus
(b) TajMahal, Agra " Amanat Khan
(c) Itimad ud daula’s tomb, Agra Ahd al Nabi ul Quraishi
(d) Shah Begum’s tomb, Allahabad Ba@i Muhammad

in Kalam

Select your answer from the Code given below :
(1) (a)and (d) (2)  (a), (b) and (¢)
(3) (b)and (¢) (4)  (b), (¢) and (d)

secular,

Given below are two statements, one labelled as Assertion (A) and other labelled as

Reason (R).

Assertion (A) : Dadni became widespread after the coming of European companies in

India.

Reason (R) : Dadni was used by European companies as a way of binding up

producers in the face of competition from other companies and Indian

Merchants.
In the context of the above two statements which of the following is correct ?
Codes :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
4) (A) is false, but (R) is true.
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50. On dressing of a noble named Marhmat Khan, which of the following emperors
disapproved it by ordering him to cut the garment short of few inches from the bottom
according to court etiquette, and announced, ‘Men should wear simple, white clothes; it is
women who should decorate themselves’:

(1) Humayun (2)  Shahjahan
(3) Aurangzeb (4) Bahadur Shah I

51. Chronologically arrange the following social legislations and select the correct answer
code :

(a) Regulation XVII which declared Sati to be illegal in Bengal Presidency.
(b) Regulation III which declared infanticide to be murder.

(c) Hindu widow’s Remarriage Act XVI.

(d) India Act V which made slavery illegal.

Code :
(D) (a), (b), (¢), (d) (2)  (b), (), (d), ()
3) (@), (c), (b), () 4 (c), (b),(d), (a)

52. From among the following statements which are not correct regarding Pandita Ramabai,
answer with the help of the codes given below :

(a) She was well versed in the Shastras.
(b) She was not married to a man from lower caste.
(c) She was converted to Christianity.

(d) She went to America to study Medicine and England to raise money for a Widow’s

home in Bombay.

Code :
(I) (a)and (b) (2) (c)and (d)
(3) (b)and (d) (4) (a)and (c)

53. Who founded Bharat Stree Mahamandal, to promote female education ?

(1) Mrs. Ramabai Ranade (2) Saraladevi Chaudhurani
(3) Sister Subbalakhsmi (4) Maniben Kara
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50. 1 H @ 6T o T S0 TR AXEHd WH H IS T Fed gU fh 98 WER & RIeER %
3ET &l &, T ¥ P T DIl FAM I T AT 3R T S0 B TSt B AR, THE IS
& e, TSH-GST ol hTH HIEeT 1 & 2°
(1) g (2) SRl
(3) e (4) EEREEI

51. 191 QIS ST Sl 395 1] 6T S o a9 o STHR Tal HoBhA § TS0 |
(a) TERE XVII, NS SER el Wraedt § Jol YT S 76y =i 55 747 |
(b) eI 111 51k AR forsrae st gcn =it fohar mar |
(c) T foes JaRsT uae X VI
(d) Efear uae Vv, U STER 1 Wl i 3Tde S fohar T |
kT
(1) (@), (), (0), (d)
(2)  (b), (a), (d), (c)
(3) (@), (c), (b), (a)
@) (0, (b), (d), (a)

52. dfedl THETE & GW § iR H | B 9 g9ed el T8l ¢ | A9 KU % P T I gel
X ddIgy :
(a) 3= ST TR F 4T |
(b) 3! foaTg =1 A & JoW o |1 e gat o1 |
(c) 3ToRT HICROT SIS & H g7 o1 |
(d) 9 Tafrcamme & 3rega & fow oM T 3R Sa O foear 2™ 6 T & fow o=

e o foT Sreie TE |
kT
(1) (a) 3R (b) ) (o) 3R (d)
3) (b) 3R (d) @) (a) 3R (c)

53. S RIeT Bl AicHIed S o (070 “HIRA S 7Sl 3hi SO fohe i off 2

(1) S THETE TS (2) FEARE =
(3) ToweT yyotedt (4) AR HRT
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54. Who among the following showed extreme courage and boldness in publishing the famous

revolutionary poem of Kazi Nazrul Islam ?
(1) Basanti Debi Chittaranjan Das (2) Saraladevi Chaudhurani

(3) Mrs. Annie Besant (4) Sophia Khan

55. From among following, who was not a President of the Indian National Congress ?

(1) George Yule (2) Alfred Webb

(3) Charles F. Andrews (4) Henry Cotton

56. From among the following statements which are not correct regarding the effects of the

Permanent settlement of 1793 ?

(a) Zamindars and revenue collectors were not only to act as agents of the government

in collecting land revenue but also to become owners of the land.

(b) Zamindars were to give 1/2 of the rental they derived from cultivators and to keep

the rest for themselves.
(c) If the crops failed, the government gave remission in rent to cultivators.
(d) Their right of ownership was made hereditary and transferable.

Select the correct answer from the code given below :

Code :
(D) (a), (b), () (2) (a)and (d)
(3) (b)and (c) (4) (b), (c) and (d)

57. During the tenure of which Viceroy imperial Agricultural Department was created and

Agricultural Institute at Pusa was founded ?

(1) Lord Dufferine (2) Lord Ripon
(3) Lord Curzon (4) Lord Hardinge
Paper-111 30 J-06-16

www.examrace.com



54.

5S.

56.

57.

HIST TSTEA TEATH I AVEY SHITTeh R hiaidl ol ThTRTT i BT W Wed 3R Fuffeper fham
feag 2

(1) wEdt &t Feras= I (2) AR ERE
(3) Sl T S (4) @fwar @=

11 O O I RS UL U T T TRl AT ?
() SwgA (2) IFhE 3

(3) TeH UF, UggS] (4) &R Pl

1793 o T sEtee % Ged | fefeiad § | A ¥ aedeT Tl el & 2

(a) SRR X TS GoTeehl & GLhR & TSie % &9 § i 9-Ioel 1 G0 & el e o,
Sfoeh 7€ STHI ol Hifetsh f AT 9T |

(b) SRR fREET & U TRy T ST BT (1/2 90 T % w9 H I & X 99 o1
@ 9 |

(c) 3TR ®EeT T &l Sl off, o TYHR [hamT b1 [T | P2 ot off |
(d) 4 W Sk USRI Ugeh T LA ST T AT |
T 3T e i Feradr ¥ Tel ST B =9I

%2
[

(1) (a), (b) 3R (c) (2) (a) 3R (d)
(3) (b) IR (c) 4)  (b), (c) 3R (d)

T TIERTE % et H SURICT P T i FHI0T g1 31 q@r | i T i T 88 2
(1) e SHRA (2) s =
(3) e For (4) S e
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58. Match List-I with List-II and select the correct answer code given below :

59.

List -1
(Newspaper)

(a) Mumbai-na-Samachar
(b) Bombay Durpan
(c) Indian Statesman
(d) Hindu Patriot
Code :

(a) (b) (©
(O CY (i) ()
2 () () (iv)
(3) (D) () (iv)
@ () (11) (111)

(1

(i1)
(iii)
(iv)

(d
(ii)
(iii)
(i1)
()

List - IT
(Founder editor)
Bal Shashtri Jambhekar
Girish Chandra Ghosh
Furdonji Murzban

Robert Knight

Match List-1 with List-II and select the correct answer with the help of the codes given

below. List-I contains the name of Governor-General and the List-II the year of the

assumption of office.

List - I List i

(a) Minto (1) , 1943
<2

&

(b) Chemsford ((ii‘) #1916

(c) Trwin ‘, (i) ‘{1926

oy Wavell & (iv)| 1905
- J“k\

Codes :

(a) (b) (©
1 Gv) () (i)
@ O (i) (iii)
3 ) (i) (iii)
(CORNNCY (iii) (i)

Paper-I111

(d
(iii)
(iv)

(iv)
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58. TAI—1 T — 11 T e iR Feifepa & & Wl el ST ol T
ot - 1 Tt - 10
(THTETE-U) (FEITU WUTEH)
(a) TaET-g9ER (i) STl I S
(b) i gHor (i) TR ¥ =

(c) YA wemia (i) TR goaH « 14
d) fgifee (iv) T -r /|

Al /1'
C TAN

@ B (© (@
1 O @) 3Gy D)
@ @ @O @Gy ()
3 Gy @ 3Gy G
@ Gv) @@ @) @

59, g — 1% gal — I 9 et o 3R A KU 3 o Fermdr  T&l S 6 999 | -1 § e
SReT % T & AR GEi-11 § 376 U8 WEul S o A |
wh-1 whom by S
(@ = (i) 1@43
(b) TEE (11)(191"6'

(©) ‘(111) 1926
(D) 1905
£ Q\

AN

(=N

(@ G © @
H Gvy @O  >G) ()
@ O @ Gy @)
3 Gv) @) @) @
@4 @O @) aG)  (@1v)
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60. Who launched the Depressed classes Mission in Bombay in 1906 ?
(1) Narayen Meghaji Lokhande (2) Bhaskarrao Jadhav
(3) Vithal Ramji Shinde (4) N.G. Chandavarkar

61. Who among the following attended the International Socialist Congress at Stuttgart in
August 1907 ?

(1) Madam Cama and Sardar Singh Rana

(2) Shayamji Krishna Varma and Madam Cama
(3) Taraknath Das and Sardar Singh Rana

(4) Madam Cama and Taraknath Das

62. Which Indian revolutionary assassinated Sir Curzon Wyllie at the Imperial Institute,
London in 1909 ?

(1) Lala Har Dayal (2) V.D. Savarkar
(3) Madan Lal Dhingra (4) Virendranath Chattopadhyay

63. Who launched the most important Urdu journal ‘Al Hilal’ on 1* June, 1912 ?
(1) Muhammad Azad (2) Abdul Ansari
(3) Hamidul Ansari (4) Abul Kalam Azad

64. Who among the following made the following statement ?

‘Nationalism is not a mere political programme. Nationalism is a religion that has
come from God. Nationalism is a creed in which you shall have to live. Nationalism is not
going to be crushed. Nationalism is immortal; Nationalism cannot die’.

(1) Satyendru Das (2) Keshab Chandra Das
(3) Dwarkanath Ghosh (4) Arobindo Ghosh

65. Who among the following was an ardent champion of Hindu-Muslim unity, devoted
much effort to bringing the Congress and Muslim League together and addressed many
sessions of the Muslim league ?

(1) Sophia Khan (2) Raj Kumari Amrit Kaur
(3)  Sultan Jahan Begum (4) Sarojini Naidu
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60. T T 1906 H fERe FoATasT A i Y&t e i 2
(1) A REoT HEST AES (2) YRR STEe
(3)  ferget Tt forg (4) TAST, TEERH
61. T 7 ¥ [T 3R 1907 H WL | YA FRIeRe S H T fordr o1 2
(1) TeH HMT 3K WK e o
(2) TATHST FHOOT T I FEH HHET
(3) TREHTE T 3N GER e o
(4) HeH HMT 3T dREHY I
62. ¥ ARAE SHITHERT 7 1909 F TeA & SHRIA Teege H T ol el i gl i of 2
(1) T &Y 3AT (2) L "R
(3) R ST (4) =i e
63. 1S, 1912 =l 35 ! T Hewaqul YR “3TeT fectlor ot T3 foha ol off 2
(1) Tews 3T (2) S FER
(3) g R (4) 1A FAH 3R
64. AT TH U SIS HEHA Tel & | I8 Ush 97 ¢, N War = G & | Ugas U o €,
ST 31MUehT AT & | SCATE i ST el ST Thell | ALAG ST &, T8 I Fal &l Febell | Tg
A FoHTeh § 2
(1) weg (2) @ T
(3) R =W 4) iRt =
65. T T ¥ B RBogiom uwar # veaet 9nee off, e SO ST gRer o B a e &
ToTT 31 I TR ST TReAT T o 3ok STTUeTAT ohi Weited foha 2
(1)  wieen == (2) TETHART ST DR
(3)  HoaH ST ST 4) WS g
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66. Who is described as the ‘poet of freedom’ and also the ‘poet of the Renaissance in Tamil
Literature’ ?

(1) Ramlinga Swamigal (2) Krishna Pillai

(3) Umaru Pulavar (4) C. Subramania Bharati

67. Who founded in 1924 ‘Bahishkrit Hitkarnini Sabha’ ?
(1) Madan Mohan Malaviya (2) Govind Vallabh Pant
(3) Dr.S.K. Bole (4) Dr. B.R. Ambedkar

68. In which year the All India Women’s Conference (AIWC) held their first session ?
(1) 1922 (2) 1926
(3) 1927 4) 1928

69. When did Mahatma Gandhi start his Dandi march as a part of Civil Disobedience
Movement ?

(1) 22" September, 1930 (2) 4™ April, 1929
(3) 24" February, 1931 (4) 12" March, 1930

70. Who founded the Radical Democratic party and was known for Radical Humanism ?
(1)  Achhyut Patwardhan (2) Vinoba Bhave
(3) Acharya Narendra Dev (4) Manvendra Nath Roy

71. Chronologically arrange the establishment of following Indian Institutions with the help of
the codes given below :

(a) Indian Institute of Science — Bangalore.
(b) Bose Research Institute — Calcutta
(c) Forest Research Institute — Dehra Dun

(d) Harcourt Butler Technological Institute — Kanpur

Codes :
(1) (D, (), (), (a) (2)  (b), (d), (0), (a)
(3) (@), (b), (d), (©) 4 (a),(b), (c), (d)
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66.

67.

68.

69.

70.

71.

fohe TSR ol “3TSTIET ot hiel’ iR “dfier Wifecd | YASITROT ST hiel’ el STl & 2
(1) TR @t (2) FOT e
(3) 3HE IOTR (4) . geHTRET 9t

7 # 9 o 1924 7 “Sfewhd ashion T i ST it of 2
(1) ¥ T At (2) TR FoenT ud
(3) T uE®, 9t (4) St AR SEeH

3T Erear AT BT (AIWC) = ST T8l Mo b oy fohar o1 2
() 1922 (2) 1926
(3) 1927 4) 1928

T 3TERT SASIo o 9 § HeTcHT el = Siel H &l 3R el fohar o7 2
(1) 22 f§der, 1930 (2) 430, 1929
(3) 24 W&, 1931 (4) 129/, 1930

fr1 5 9 Yewmer SHHICH TR i TG fhe 6t df 21X fohee shifderit Aaarens & few ST
ST o1 2

(1) 37=gq weaed () forEn
(3) B A 3 (4) WS

e ST e ot TeTar ¥ Fifhd YR T3l 1 3! AT & ety | @
(a) e ke o Wew ~ FER

(o) e e B e

() e e g ~ S
BT

(d) BT AT ERESIS

E T

(1) (D, (), (b), (a)
(2)  (b), (d), (©), (a)
(3) (@), (b), (d), (c)

4 (a),(b), (c), (d)
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72. In which year Mutiny of the Naval ratings took place in Bombay ?

(D
3)

18" February, 1946
12™ October, 1946

(2) 23" March, 1946
€)) 11" November, 1946

73. From among the following reasons which one is not a correct answer regarding Nehru’s

decision to stay in the British Commonwealth, despite of strong public opinion to the

India could benefit from her presence in a multinational body.

It provided a certain strategic security.

India also played an active role in U.N. peace-keeping forces in various parts of the

contrary ?
(D
(2)
3)

world.
4)

India believed that the British could help in governance.

74. Choose the correct answer from the code given below :

On date the Indian Independence Bill was introduced in the House of
Commons by the Prime Minister Attlee. The bill was passed on and by the House
of Lord on the following day and received the Royal Assent on date.

Codes :

(1) 4™ July 1947, 15" July 1947, 16" July 1947

(2) 14" July 1947, 16™ July 1947, 17" July 1947
(3) 10" July1947, 14™ July 1947, 18" July 1947
(4) 4" July, 1947, 15" July 1947, 18" July 1947

75. Match List-I with List-II and select the correct code given below.

List—1 g =
(a) Surendramath Banqrj‘ah
(b) Subhagr(;i'\andra Bose
“% (¢) Theodore Lk, Shay
( (d) Shahnawa%n
Codes :
(a) (b) ()
(L Gv) (ii) (1)
(2) (ii) (iv) (iii)
3 @ (i) (iit)
4 @) 31v) (1)
Paper-I111

List — II
(i) The Legacy of Lokmanya
(i) My Memories of LN.A. & It’s Netaji
(ii1)) A Nation in Making
(iv) The Indian Struggle 1935-1942

(d
(iii)
)
(iv)
(i)
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72. SO T YT (RO 1 AT fosTE e e ot ?

(1
3)

18 HERT, 1946 (2) 23 9, 1946
12 3FT, 1946 (4) 11 9@, 1946

73. 39 % iR USeT TR AT 8 % STeNR (sieeT T Heod | s @ & e % hael % ey H
frferfaa & @ %9 o1 HRoT Tl =l F 2

(1
2
3)
“4)

TR BT Uh TgA2T G | o & T A oo |

T U ey T gee frerdt ot |

IR fova o 3ok el § GgerT I St ST TAT i ATsha TEANT 3 XeT o |
TR UG T &7 o1 I To1e 39 SIehid Wrett | SWerarar S |

74, = U T $Z F W I H AT B
U ol TSl o B39 3% 9 | ARG i 3fea deusy foo usr fmar | e foo

e g% |

=« .

HT
ey
2
3)
4

1 IR g2 31X 2ot & f&7 2139 3w ey o | N T [EHT (3T

4 ST 1947, 15 S|eTe 1947, 16 Sfee 1947
14 SIS 1947, 16 SoTg 1947, 17 S|eg 1947
10 SIS 1947, 14 SoTg 1947, 18 SfTg 1947
4 TS 1947, 15 SJee 1947, 18 Sfee 1947

75. A -1 F G- 11 ¥ e T 3R T& e A 757 -

(a)
(b)
(©)
;o

%l :

(=N

ey
2
3)
4

J-06-16

T -1 ) Tt - 10
G S ((i) * g NI S AR

gmwa"\? (i), "mﬁuﬁﬂamaﬁmnﬁgmﬁmﬁ
AGTGAFA (i) ST o AT

W@E“-\(iv) T 3fead Tt 1935-1942

@ B (© @
Gv) @) @ (i)
i)  Gv) @) @)
@ 3d) i) (Gv)
(i)  Gv) @ (i)
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